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1. Answer any fwo questions from the following: 15x2 =30
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(a) What is the difference between Scores and Data? Prepare a frequency distribution 3+6+6

of the following 50 raw Scores, taking 30 as the lowest limit and class interval of
5 units. From that frequency distribution, draw a Histogram.
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42, 37, 46, 48, 63, 64, 63, 53, 57, 55,

72, 55, 66, 33, 48, 56, 34, 77, 65, 58,

47, 59, 44, 31, 75, 40, 45, 56, 55, 65,

48, 56, 52, 53, 34, 42, 58, 65, 43, 54,

46, 57, 62, 58, 53, 43, 47, 54, 60, 48.

(b) What is meant by measures of central tendency? Calculate mean and median from 3+6+6
the following distribution.
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Scores | 24.5- | 29.5- | 34.5- | 39.5- | 44.5- | 49.5- | 54.5- | 59.5- | 64.5- | 69.5- | 74.5-
295 | 345 | 395 | 445 | 495 | 545 | 59.5 | 645 | 695 | 745 | 795

f 2 4 6 8 20 20 20 20 15 4 1
N=120

(c) What is meant by positive correlation and negative correlation? Calculate the 3+3+6+3
co-efficient of correlation between the following two tests I and II by any one
method. Interpret the result.
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Test-I | 12[15(24 20| 8 [15|20(20 (11|26

Test-II | 21 {25 (3524|1618 |25|16| 16|38
N=10
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